Qpunwdlpuls wknklpughp 1/2019

<82 631 —413 -4
Fnyukph wupwnwwbnipinti

Qhnpgh 2UGAL3UL
3.q.12

U.UrNA3UL
Cniphh wnbjulninghwlwb hwduyumpui

LLULUOULSELPNRE3NRLL WUIVYUO |
LUBY 201k USCORUSNRUSPS
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I'.Axonan, A. Mxoan
BO/IOIIPOHHIIAEMOCTb I104YB B 3ABUCHMOCTH
OT CTPYKTYPbI

Booonponuyaemocms  nousvt  onpeoeasin  H. A.  Kauuncxuil.
Hccnedosanue nposodunu 6 nezko enunucmuix nousax. Obvekmom
uccnedosanus Ovlia NO46A PACNBLIEHHAS U CMPYKMYPHBIL ONblm
noKasai, 4mo 8 nepeoM 6apuaHme Ha Kpenkux pacnbvlIeHHbIX NOY8aAX 6
nepsvill 4ac 600a NPoHUKIa Ha enyouny 82 mm. Bo emopom eapuanme,

20e nougwl paspuixasiiu 24-25 cm, nponuxana Ha 97 mm.
Boodonponuyaemocmv 6 mpemvem u uemeepmom eapuanmax oOwviid

sHauumenvno  6omvwe  165-192  wmm. Ha  emopoti  uac
B000NPOHUYAEMOCHTb PE3KO NOHUUNACD.
Kniouesvie cnosa — nousa, 600a, npoHuyaemocm, CmpyKmypd,

paspvixienue, pacxood, 4ac, NOBEPXHOCHIb, MULTUMEMD, MULIUSPAM,
Kpenkuil.
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G.Hakobyan , A.Mchoyan
THE SPREAD OF WATER PERMEABILITY OF
LIGHTWEIGHT LOAM DEPENDS ON THE DEPTH OF THE
HOEING

We have determined the spead of water permeability of varios depths of
soil hoeing in lightweight loam in the foothills of Artsakh.
It turned out that 22400 ml of water was spent on the ground in the
hour. The water penetrated into the ground at 122mm. In the second
version where the soil was peeled at of 10-12cm, the water was spent
26200ml, penetrated into the ground 131mm. In the third version the
soil was peeled at a depths of 24-25 c¢m, the water was spent 26200ml,
penetrated into the ground 146mm. In the fourth version the water was
spent 32400ml, penetrated into the ground 162mm. The is to say the
deep hoeing of the soil allows to penetrate and collect more water. In
the second hour the penetration of water in all versions is seveely
reduced.
Key words: soil, water permeability, hoeing, deep, surface, penetration,
spending, hour, mililitr, milimetr
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10 4000 200 22 5200 | 200 26 7600 200 38 8800 200 | 44
20 3400 200 19 4400 | 200 22 6800 200 34 7600 200 | 38
30 3200 200 16 3600 | 200 18 5800 200 29 6800 200 | 34
40 2600 200 13 2800 | 200 14 5000 200 25 6000 200 | 30
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